EARAROBEEIERT — 2 N— IBISH —F

20125 7A8H (B) 7H{£E2H

FEEHE Y5R3K ECEE IR T
[AE4£] 1% :280,000 ™ ~ 2#%:64,000”  337%&:2500M  43%&:14,000 " 53 :8,000 0
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
K . . M=t 57, 50— . — REM (EE)
il7lglansE—=2y > 3 e 1(5_7)2 5-5-2-1 | 38.5 1 :513?) /J\;;?i% =4
L= NZZXY>F— B:oF—"ddx L7HITy7—L
s g S BERD :57. FaGH . — AR (EB)
oW | srnons o 88 YR | Sees [wo) - | 2| e a0k e
Ri*xfavkR—5— B:5XMK—%— Sitie)
. N N &#h : 41— - HEB (£8)
38l o ML A F 4 3 N 1.(5‘3.5 4-4-1-2 | 39.8 4 <4+317> EHEE "
L:xg—1)rJ0-x B:YINISEyYa R 45
“ Al :58. -1-4- . — HENE (158
4 o|BsxTHYE 4 3 an 1(35/%6 1-1-4-4 | 40.1 9 (4_867) mﬁﬂg}
R:O-S XA 414 B:IAS>T—IN> I RLZR77—A
— . = tr . 77 _ HELE =
5155 IS E D 4 3 S,E%Ef 1.(518).8 7-7-7-6 | 39.1 3 22) q:;%gg (£8)
LixAvavi-5— B:UTL FRT7— L
RHEEC . —6-6~ = Z/EEN (EB)
6 3 INOA Y LA A 4 3 oo 1(75?:? 6-6-6-5 |39.7 7 (4+533) %Em_i% "
-7 B:xavIfiz—> BEZZY K
SN . [Il=5;7 : -10-10- - AR—X (E8)
IR E 2= 4 3 i 1.{339).5 9-10-10-8 | 39.4 8 zzg? - ?‘/:}f
R:F25 40 B:IYRLIAY =REASE
SSFEN S AEE—HR : -9-8- = JIBZE7 (1£8)
8 6lELTNI71—2 4 3 o 1.(519).7 10-9-8-7 | 39.9 5 (4553; e
L:rh—> B:TFT+Y IN=tie]
oL - R :00. -8-9- . — KIEHK (£E)
9lgliol T—Y>E1—F+« 4 3 o 2(050)7 8-8-9-10 | 40.8 10 (4_4:) P "
L:d—IWR7Y2—b B:YaARy T MARKS
857, [© HPEA :02. -5~ . — REM (£8)
10lz7l 7| TV=XT R i 3 o (QQ(LZ% 2-2-5-9 | 43.8 6 (4+768) IE;% "
L:xrinaO— BNZXEvU-— pailzbve )
® 1—F—@EBIERL
1J3—74+— 2,7,4,9,8,3,5,10,1,6
23 —F— 2,7,4,9,8,3,5,10,6,1
Ja=5= 9,8,4,2,7,3,5,6,10,1
43—+ — 8,9,4,2,3,5,6,1,7,10
[ /N
B 8 110 714K 4-8 130M e E 4-7 1504 JEE 4-8-9 1,040M
B B 8 100M 8-9 600 B = 4-8 150H EE 8-4-9 1,600
4 110M 4-9 270M B H 8-4 170H
9 300H

ABICOVWTRDTEEERROODE. TR LIV,




